Component 2 — The four operations Commentary

Question Commentary Mark
1(a) 1
1(b) 1
2(a) 1
2(b) 1
3(a) 1
3(b) 0

q 1
5 1
6 1,1
7 1
8 0
9(a) 1
9(b) 1
9(c) 1
9(d) 0
10 There are 5 correct values. 2
11 1
12(a) 1
12(b) 1
13(a) 1
13(b) Only the follow through mark for the correct decision can be awarded. 0,0,1




14(a) 1
14(b) 0
15 0
16 1

Total

22




Component 4 — Money Commentary

Question Commentary Mark
1(a) 1
1(b) 1
1(c) 0

) The first answer is incorrect — adds up to 10p, not 9p 0,1
The second answer is correct
3(a) It's OK t(? have the ‘p’ sign even though ‘pence’ is at the end of the 1
answer line.
3(b) 1
a4 It's OK to omit the ‘p’ signs 1
5 No marks because the sign has been missed off. 0
6 1
7 1
8 1
9 1
10 The second answer is a repeat of the first so gets no mark 1,0
1 It’s OK to omit the £ signs 1
12(a) 0
12(b) The follow through mark can be given . 1
13 Only the first mark can be awarded. 1,0
14 1
15 £5 made but with 8 coins 0
16 The final answer is incorrect but the methods used are correct. 1,1,0




17 0
18(a) The £ sign is missing. 0
The first mark can be awarded for adding, even though the answer is
18(b) incorrect. Their incorrect answer is then subtracted from 60 so the 1,1,0

second mark can be awarded. The final answer is incorrect.

Total

19






